DooboedoonoSsgobobobooogd

oo od

ob2r040 130

g o

oooooSsODOoo0O0oooooooooooooooogo
ooooooo s,0gooooooooo0ogoooooDooobooo

1 ODOoogd

gobooboobboooboobobooboobboobo

F((12)) = (12)(34)(56)
F((23)) = (16)(24)(35)
F((34)) = (14)(23)(56)
F((45)) = (16)(25)(34)
F((56)) = (13)(24)(56)

O0DOO00000DODODDODOO0DO F:S—S0000g ss0nooon
goboooooobooboooobobobobob40b00b0bDOoDO

2 Qogo

000-,O000000000rO0000S,00000000100n0
000000000000000000000000000000000
00MO00000000000000000000000000000
0000000000005, 0000000000000000000
000000000000000 fogOODODOOOODOODOOOOOO
0f.¢g0000 fg0O0O00O0O0

000 S,00000000»-0000000000M0O0100000
00000000000000000000 10000000000
000000000000000000000:i000000 f36)00
00000:000000000000000000000000000



0 1: f(1)=40f(2) =30 f(3)=10f(4)=200000 fe 5,000
0000000000000

000000000000000000000000000000000
000000000000000M0000000 j00000000
D0000000D04+0000000 f6)=,4000000000000
0000000000000000000000000f000O000O0
008, 000002%,9es8,0000000000000000000
000000¢y0000000D0000D f00000O0O0OOOOOO
000000000000000000000000000000 S,0
0o0do f-¢0000000f00000000000000OOOO
0000000000000000000000000 8,0000 f0
00 f'oooo

000000s,000 fO00000O0D0O0O0ODOfO0000O000O
000000000000000000000000000000 »00
0000000:0000000004+000:¢+1000000000
00000¢+10004+2000000000000000000034
0000000 »0000000000000000000000 DO
000000000000000000000000000000000
n—1000000r»-1000000000000000000000
000000 »n0000000000000000000000000
000000n-10000000000000000000000O
000000000000000000000000000000000

0000000000000S,00000000000000000
000000Oayq,...,e, 0100 n0000000000000Oa; 0
as00ax0 a300...0a,10a,00a,0 00000000000
000000000000000 5,0000 (a1az...a;) 00000
00000000000 00000000k00000D0DODO 00O

0000000000000 0000000000D000000000000000
goboooboooooboooobooooboooboooboooooooboOoooDoboo
‘0000000000000 0000000000000000000



O00001<+< k000000000 (a;ai41...-0axa1ag...a;—1)
O (aay...q) 000000000000 0OOODOOOO fOOOOO
000000 fOOD00ODOO0OOCODOODOODOODOOOOODOOOODOO
gododobooooouooooooooo

00 1.0008,00000000000 {a1,a9,...,a,} 000000
0000000000000 (aaz...q,) 00000000000

fes, 0001000000000 0D0O00DOO0DOOODODO0ODO
0000:000000 mO0OOO0OOoo(@m2m,...)0 fO0000
O000000f0000000000 0000000100000 (5)
gbooopoboobooboobooboobobobooboobooboo
oobooOo fOo00O0bD100n0O00D000O0ODOOODOOOODO
gbobooboboobooboooooon ZJZlmj-j:nDDDDDD
000000000 fesS, 000000000 O0DOOODOOODODOODO
00000000000000000D00000%0000000000
gbooobooon

00 2. 8,000 f,¢g00000f0¢000000000000000
00 heS,0000¢=hfh~l0000000000000Of0 g0
00000000 00o0O

00200000 (a1a) 0 00 00000000 ag=a;+1000
000 0000000000000 1000 feS,00F = (1423)0
000000000000 f=(23)(12)(34)(23)(12)000000000
000000000000000000000000000000000
000 100000000000000000000000000000
000000000000000000000000000000000

o0 3.00b0 sS,000o0oooooooooooboooobooo

00008, 0000000000000000000(12)(12)000
000000000000000000000000000000000
0000000000 (13)0 (12)(23)(12) 00 (23)(12)(23) 000000
000000000000000000000000000000000
0000000 S, 0000000000000id0000000000
00 (ii+1)0 0000000

1<i<n-—-1000 s;8=id (1)

2§i§n—1 ood si_lsisi_lsisi_lsizid (2)
‘000000000000 000000000000000D0000DOOooon




1<i<n—-1,1<j<n-1,i—j>2000 s;s5sis; = id (3)

0000000000000000S,000000000000000
000000000000000000000000000000000
000000000000000000000000¢

000 s,00000000000F:S, —»8,008,00000
00 f,¢g00000 F(f-g) = F(f)-F(g)0OO0OO0DOOFO S,0
0000000000S,000000000000 Aut(S,)00000
0000000000000000 S,00000000000000
00s,000 f000000000S,000¢000000 fgf 10
00000000 $,00000000000000000000000
000000000 00000000000000000000000
000000000000 00000000200000000000
0000000000000000

00 4. 5, 000000000 FOOOOOS, 000000 FOOO
gooooooooon

3 SsUUoobuoboboobououobobooon

O000d00On#6000 5§, 00000000000D000CDO0O0O0O
0000000000000 0O000O000000O0n#A60000000
o000 »=60000000000000000D00OO

00 1.5, 0000000 FOOS,000000000D000O00O0O
rogoboboobobobob

00.0000000 ar,a9,...,an € {1,2,...,n} 000001 <i <
n—100000000:0000000 F((ii+1))=(a; ais1)00
00000000000000000000000000000000
je{1,2,...,n} 0000 f(j)=¢; 00000000 S,000 fO000
000000 s =(ii+1)00000 F(s;) = fs;f"'00000000
0003000000geS,0s00000000000F(g)=fgf"
00000000000
000000000000-=1000000000000000n>2
00000000000000000 F((12))0000000F((12)) =
(a1a,) 000 0,0 ;00000000 »n=2000000000000
000000000000 R->3000000000000000000

‘00000S,000000000000000000000D000D000OOOg
oooo s, 000000000000



00 F((23))= (b)) 000 006000000000 F((12)(23)) =
F((12))F((23)) = (a1a2)(biby) 000000 {a1,a2} 0 {by, by} 00O
000000000000 ((a1a2)(bibe))® #id0000000000
((12)(23))*=id000000000000 {a1,a2}0 {b1,bo} 00000
D00000000000000000a,=b0000000 b,0a300
D000000»=3000000000000000000000000
n>4000000000000000 F((34))=(c1c2)000 10 20
0000000000000000000((23)(34))3=id000 {az,as}
0 {c,c} 00000000000D000O0DDOO ((12)(34)% = id
000 {a1,a2} 0 {e1,e2} 0000000000000 O0O00O0DOOO0O
ag € {c1,c2} 0000 (c1e2) = (a304) 0000000000000 0ODOO
000000000D0000000000D000000000D0 O

gb4000 100000000000 0OO0OOOOOO0

01 5, 0000000FO0O00OOCOFOODOOOODOODOOOODO
oooooos, 0000 FOOODOOOOOOODODODOODOOO

o0 2 S5,0000000 FOOOODOOOODODODOOO fes,OrF
0000 F(f)DO0D00O00000 fO0D0DOO0OOODODOOOOOO

O0. 000000 fe8,0000000g9¢€6,000000200
OD0f04¢000000000000RES,0000¢g=Afh"'000
00000 F(g) = F(hfh ™) = F(hWF(f)F(R)~'000000F(f) DO
F(p)0ODOODOODOOODOOO02000 F(f)O Fg)oooooo
00000000000 0000000 O

00 8.0<a<n/2000000«000000 (1"2029y000 S, 0
000000 n(n—1)---(n—2a+1)/(a!-2) 0000

00. 0 (1"229000 S, 0000000000 Z0100 0000
0000000 2e000 [by,...,b0,) 0000000 X02000000
00 {1,...,n}00000 «000 [By,...,B,)]0000 By,...,B,00
000000000000 00000000Y 000000 F:X Y
0G:Y—ZzZ0O0O

F([b1,...,b2)) = [{b1,b2},{b3,ba},...,{b2a—1,b24}]

G([{b1,b2}, {b3, b4}, ..., {b2a—1,b2a}]) = (b1 b2)(b3bsg) - - - (b2a—1 b24a)

0D0000MO0GO0000000000000 (zy)=(yz)0000
00000000MO0000[By,B,,...,B,]eYOOOO FOOOO
D000 XO00000000 B,0200000000 B,02000000



Qoo p, 020000000000 LDOLODOODbLOODLOODOO By
oobooobo20b0000bboobooooboogoo2ce00ooboon
V] =]X|/2°000000000(b; be)(bsba) - (bra—1bse) € ZO OO D
GOOO00DO00YOOOO0DOO0 [{by,ba}, {b3,ba}, ..., {b2a_1,b2a}]
bbb eb0O0oobooobbuooobooobboooboooa
000000000 «!000000|Z] =|Y]/e! 0000000000
I X|=nn-1)---(n—2¢+1)000000

1Z] = |X|/(a! - 2%) = n(n — 1) - (n — 2a + 1) /(a! - 2%
O0oooooooooooao ]

S, 0000000 FOOOOOOOOFOODOODOOOODOD
000002000000000000000000 (1~2290000
al1<ae<n/2000000000000002000000000
0000000000000 000000000000 20 F'O0OO
00000000 (1" 229000 8§, 0000000 FOOOODOODO
0000000000000000S,00000000000 (172229)
o000 s, 00000b0o00d0 FO0000ODOOOOODOODOOOOD
0o0000000s,000000000 (1229000 5,00000
gbogobooaboooo3bbbod

nn—1) nn—-1)---(n—2a+1)

— 4
2 al -2 (4)

oooood

00 4.2<a<n/2000000 70000000 (4)0 (n,a) = (6,3)
0ooo0ooo

00. fo(n) = (n—2)(n—3)---(n—2a+1)0000000 (4)0 fu(n) =
@-20-'00000000000«000000 fo(n)0n000000
000000e¢=200000al-2071 =40 f5(4) =20 fo(5) =6000
0000000 f,(p)0000000 (49)00000000000a >3
000000000000

fa(2a) = (2a —2)(2a —3)---2- 1
=2"Ya—1)!-(2a—3)(2a —5)---3-1
>2v7 g - 1) a=2v"1.q
0000000000 e=300000000000000 f,(n)000

00000 (4)0e>4000000000«=300000 (49)0000
000n=2=600000000000000000000000 O



00 1.n#60000S8,0000000000D0DODOOOOOOOOO
godg

O0.0040000000000000080n#600005,00000
00 FOODODOODOODDD (1~2Y)Yoooooooooooooooo
oboob1b0 FO0OO0O0ODODOOOODODODODOODDODO
uo U

4 Ss0000D00O0O0OO

oobOoOooSsOOoooOoooOoooOobooOoboboOoooooooo
0000000 0DO000000D0O00DO0O0DO0O0DOOOooDSsoOon
gobooboooboooobooooboooboobooboobooboo
gboboboobooobobooboooboobooon

oo 2. FOGO SsO000O0O0oOOoOoooooooobooOoooboOooon
O/0000G=FolI0OOODOOO

ob.000gb10boo0oooob0oob40b00000ob0obooonoo
FOOOGODOOOOODODO (1#2h)YDooooooooooooooo
(2)0000000000000100 FODOD GOOO0000000
ooboobooOoOOoOOoOo0ooooorFOo0oo GoOOOODOoOoOoOooooo
(2)0OOO0D0D0D0040000000000F0GOOOO SO0
0000000000 (22)000000000000000000000
000 Se0000D00D0 FloGDOODOOODOODOOOOODODO 10
00 FloGDOOOOOODOODODODODOOOOIOOOOI=Flo@G
OO0 Fol=GOOOOOOODOOODODOOOOOODO O

gboboigboooooboogbo robooboobobooboooobo
ooboobo0 FOO0OO00ODOOODOOOOOOD 20000000
gbobobobobobobooooboobobobobobobon
obobobob FOOO0OOOODODFODODOOODDOODODO
oo

(*) Ss000 fO00O00f =ttt 0000000000000
O0000F(f) = F(t1)F(ty)---F(t,)00000 F(t;)0 1000
0000 Ss000000

0000oo0oo0o000ooo000 (YooOooUooOOoOOoOo FOODOOO
O00030000feSs0O00 (fYDODOOOO f=tity---t, 000
00000000000 f00000 f=¢t,---¢, 000000000



000000000000000000000000000020000
00000000000000003000000 (1)0(2)0(3)000
000000000000000000000000000000000
000 FOOOOOOOOWdOOOO0OO00O00000

(000000 F(s;)F(s;) =id
(2) oooooa F(Si_l)F(Si)F(Si_l)F(Si)F(Si_l)F(si) =id
(3)000000 F(s;)F(sj)F(si)F(s;) = id

O0000O0O0F(s;,) 0000000000000 0O0OOO0ODOOODOO

oooooooofoooooooooboooborO0ooooboOooooD
goooog

F(t)F(t2) - F(ty) = F(t1)F(ty) - - F(t})

goboobobooboloooboooboobo FObOoooobOoo
000000°00000000000000000000

00 3. SsOO000O0O0O0ODbDOoO0OOOOoOobDOoOoboOoDbo 2000
googoooboobooobooobo

0000000000000 FOOOOOOODOOOOOO0OO0O000O0
00000000000 FOOOOOOOOOOOF(z)=y00000
0z—y00000MO

(12) — (12)(34)(56)
(23) — (16)(24)(35)
(34) — (14)(23)(56)
(45) — (16)(25)(34)
(56) — (13)(24)(56)

(13) = (12)(23)(12) — (12)(34)(56) - (16)(24)(35) - (12)(34)(56) = (13)(25)(46)
(24) = (23)(34)(23) — (16)(24)(35) - (14)(23)(56) - (16)(24)(35) = (13)(26)(45)
(35) = (34)(45)(34) — (14)(23)(56) - (16)(25)(34) - (14)(23)(56) = (12)(36)(45)
(46) = (45)(56)(45) — (16)(25)(34) - (13)(24)(56) - (16)(25)(34) = (12)(35)(46)
(14) = (12)(24)(12) — (12)(34)(56) - (13)(26)(45) - (12)(34)(56) = (15)(24)(36)

‘000000000000 00D000000D000DO00D0NO00NNOONonon
gobodoooooboooobooooa



(25) = (23)(35)(23) — (16)(24)(35) - (12)(36)(45) - (16)(24)(35) = (15)(23)(46)
(36) = (34)(46)(34) — (14)(23)(56) - (12)(35)(46) - (14)(23)(56) = (15)(26)(34)
(15) = (12)(25)(12) — (12)(34)(56) - (15)(23)(46) - (12)(34)(56) = (14)(26)(35)
(26) = (23)(36)(23) — (16)(24)(35) - (15)(26)(34) - (16)(24)(35) = (14)(25)(36)
(16) = (12)(26)(12) — (12)(34)(56) - (14)(25)(36) - (12)(34)(56) = (16)(23)(45)

O0O0Ss0DO0O000oOOoOoOooooooonoooooog ssgooo
rooooooooon

34) = (12) - (34) > (12)(34 (56) = (13)(24)
(24)(56) = (56)
) = (154)(236)
(34) = (124653)

24)(56) = (263)

( )(56) - (14)(23)
12)(34)(56) = (12)(34) - (56) — (13)(24) - (13)
123) = (12) - (23) — (12)(34)(56) - (16)(24

)(45) = (123) - (45) — (154)(236) - (16

)

) -
1234) = (123) - (34) > (154)(236) - (14)(23)(56) = (2645)
1234)(56) = (1234) - (56) > (2645) - (13)(24)(56) = (13)(2546)
12345) = (1234) - (45) — (2645) - (16)(25)(34) = (14356)
(

(
(
(
(
(123)(456) = (123)(45) - (56) + (124653
(
(
(
(123456) = (12345) - (56) > (14356) - (13)(24)(56) = (15)(234)

000000000 20008 0000 FOOOOODODOOOOOOO
(12hoo (230000000 (133YHoOo (3%) 0000000 (1t2i3h)
00 (61)YDODOOOODODDD000000000000000

ugb oOoboboboobooooboboobuobooobobobon
gboboboboboboobooooboboboooobobon
gbooooooooooooooooooooon



